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Biology p1, p2&p3

a)
b)
i)
ii)
<)
i)
ii)
d)
©)

i)
ii)
g

a) Name the parts marked E, Fand G (3 marks)
b) State two aspects of cell E that are an adaptation to its function. (2 marks)
¢) Describe the changes that would take place in E if the cells were placed inconcentrated

sugar solution for a long period. (3 marks)

In Europe up to the 19th century, most moth i.e. Biston betularia were white speckled. Today upto 97% of the population
recorded in the industrial towns in Europe are black. In rural areas most moth found are white speckled form.

1)  Briefly explain how this has come about. (5 marks)
ii) Name one cause of variation in nature. (1 mark)
iii) What theory of evolution does it support the description in (i) above support? (1 mark)

iv) In order to increase the quantity and quality of agriculture produce, man selects organisms with desirable characteristics
to be parents of next generation. Name the practice.

SECTION B (40MARKS)

Answer questions 6 (COMPULSORY) and Either question 7 or 8

Rice seeds were soaked overnight. Fresh mass and dry mass of a sample of 20 seeds was obtained and recorded in the table.
The rest of the seeds were planted in a tray that had soil and well watered daily. Twenty of the seeds/seedlings were removed
from the soil every two days for two weeks. Their fresh and dry mass were taken and recorded in the table as shown below:

Time in days Fresh mass in (g) Dry mass in (g)

0 14.0 4.0

2 18.0 3.5

4 245 2.5

6 32.0 1.5

8 38.5 2.0

10 41.0 3.0

12 43.0 4.5

14 45.0 6.0
Using the same axes, plot two graphs to represent changes in fresh and dry mass over the two —week period (7mrks)
What would be the fresh and dry mass of the seedlings at day 9. (2mrks)
Fresh mass
Dry mass
Account for the change in fresh mass and dry mass between day 0 and day 6. (4mrks)
Fresh mass
Dry mass
Explain the change in dry mass from day 8 (2mrks)
Explain why a sample of 20 seeds was used instead of one seed. (2mrks)
State one factor within and one factor outside the seed that cause dormancy. (2mrks)
Within the seed
Outside the seed
Give one characteristic of a meristematic cell (1mrk)
Describe how the mammalian male reproductive system is adapted to perform its functions. (20mks)
Describe the role of hormones in the growth and development of plants (20 marks)
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